
Introduction to Macroeconomics ∙ M5

Exam 1: 10 March 14

Problem sets double answer double answer Mark

1 2 3 4 5 6 7 YES YES NO NO (‐5  10)

086  1 3 ‐0,833333

108 2 4 1,1111111

128

144  1 3 0

177   2 1 2 3,0555556

179  1 5 ‐3,611111

240    2 1 2 3,0555556

251  3 3 3,3333333

317   1 4 ‐0,555556

376    4 1 1 6,9444444

435    2 3 1,6666667

520    1 4 ‐0,555556

574   1 1 2 1,3888889

672   2 3 1,6666667

675   1 4 ‐1,388889

676    3 3 3,3333333

683   1 3 2 ‐2,777778

731   1 5 ‐1,944444

759 1 2 3 1,6666667

766    3 3 3,3333333

899    1 2 1 2 1,3888889

926   2 2 2,2222222

1,9375 1,2 1,666666667 3 1,071428571

indicates presumed identity
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